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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
D E Sem-VI  Examination May 2011 

 

Subject code: 366003 

Subject Name: Pavement Design & Evaluation 
Date:21/05/2011                               Time: 02.30 pm – 05.00 pm  

                                                                                      Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is Authentic 

 

Q.1 (a) What are the types of pavement. Explain them 07 

 (b) Give difference between flexible pavement and rigid pavement. 07 

    

Q.2 (a) Give functions of various components of flexible pavement. 07 

 (b) Discuss the effects of repeated applications of loads on pavements. 

Explain equivalent wheel load factors for load repetitions. 

07 

  OR  

 (b) Write short note on Equivalent single wheel load(ESWL) 07 

    

Q.3 (a) List various factors to be considered for the design of pavement. 

Explain contact pressure. 

 

07 

 (b) Explain how climatic variation affects pavement design. 07 

  OR  

Q.3 (a) Discuss the critical combination of stresses due to Wheel load and 

temperature effects. 

07 

 (b) Determine the spacing between contraction joints for 3.5 meter slab width 

having thickness of 20 cm & f = 1.5 , W= 2400 kg/m
3 

F.S = 2 for the 

following two cases: 

i) For plain cement concrete  

ii) For reinforced cement concrete 

Ultimate Sc= 1.6 kg/cm2   Ultimate Ss= 1200 kg/cm2 

Unit weight of steel =7500kg/m
3 

 

Total reinforcement of 6kg/m
2
is provided and is equally distributed in both 

direction 

07 

    

Q.4 (a) What are the various flexible pavement design methods. Explain Group 

Index Method. 

07 

 (b) Soil sub grade sample collected from the site was analysed and the results 

obtained are as given below: 

i) Soil portion passing 0.074mm sieve, percent =50 

ii) Liquid Limit, percent                                      =40 

iii) Plastic Limit, percent                                      =20 

Design the pavement section by group index method for the anticipated 

traffic volume of over 300 commercial vehicles per day. 

07 

  OR  

Q. 4 (a) Discuss the advantages & limitations of C.B.R method of pavement 

design. 

07 
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 (b) The CBR value of sub grade soil is 5%. Calculate total thickness of a 

pavement using 

i) Design curve developed by California state Highway Department.  

ii) Design chart recommended by IRC 

iii) Design formula developed by the U.S Corps of engineers. 

Assume 4100kg wheel load or medium light traffic of 200 commercial 

vehicles per day for design. Tyre pressure= 6 kg/ cm
2
 

07 

    

Q.5 (a) Discuss Westergaard’s concept of temperature stresses in concrete 

pavement 

07 

 (b) Calculate the stresses at interior, edge and corner regions of a cement 

concrete pavement using Westergaard’s stress equations. Use the 

following data: 

Wheel load, P                                                = 4100 Kg. 

Modulus of elasticity of cement concrete,E  = 3.0*10
5
 Kg/cm

2 

Pavement thickness, h                                   = 18 cm 

Poisson’s ratio of concrete, µ                        = 0.15 

Modulus of subgrade reaction, K                  = 6.0kg/cm
2 

Radius of contact area, a                                =  15cm 

07 

  OR  

Q.5 (a) Briefly outline the I.R.C recommendations for determining the thickness of 

cement concrete pavements. 

07 

 (b) What are the various types of joints in cement concrete pavement. Explain 

any one with sketch. 

07 

 

************ 

  
5|`Gv!5|`Gv!5|`Gv!5|`Gv!    V ફરસબધંીના �કારો જણાવો અને સમ�વો   07 

 A ન�ય ફરસબધંી અને �ઢ  ફરસબધંી વ�ચે તફાવત  લખોૃ 
 07 

    

5|`GvZ5|`GvZ5|`GvZ5|`GvZ    V ફરસબધંીના િવિવધ "તરો# ંકાય$  જણાવોુ  07 

 A ફરસબધંી માટ 'નરાવિત(ત ભારની અસરો જણાવો* ુ . 'નરાવિત(ત ભાર માટ ઈ-વીવેલ.ટુ *  

/હ1લ લોડ પ4રબળ   સમ�વો.  

07 

  VYJFVYJFVYJFVYJF  

 A ઈ-વીવેલ.ટ સ6ગલ /હ1લ લોડ પર 8ંક ન9ધ ૂ લખો 07 

       

5|`Gv#5|`Gv#5|`Gv#5|`Gv#    V ફરસબધંીની 4ડઝાઇન કરતી વખતે =યાન મા ંરાખવાના  >દા >દા પ4રબળોની યાદ1 ુ ુ

બનાવો. ક9ટકટ �ેશર સમ�વો* .   

07 

 A હવામાન મા ંથતો ફરફાર ફરસબધંી 4ડઝાઇનને * કવી ર1તે અસર કર છે* *  07 

  VYJFVYJFVYJFVYJF  

5|`Gv#5|`Gv#5|`Gv#5|`Gv#    V /હ1લ ભાર અને તાપમાન ની અસર ને લીધે થતા 4Cટ1કલ કો�બીનેશન �તીબળો ની 

ચચા$ કરો.  

07 

    A 3.5 meter પહોળાઇ અને 20 cm �ડાઇ ના "લેબ માટ સકંોચન સાધંા વ�ચે# ંDતર * ુ

નીચેના �કારો માટ નE1 કરો* . f = 1.5 W= 2400 kg/m
3
  F.S = 2  લો  

૧. Gલેન િસમHટ ક9C1ટ  ૨. આર. સી.સી .  

અKટ1મેટ  Sc= 1.6 kg/cm2  અKટ1મેટ  Ss= 1200 kg/cm2 

"ટ1લ# એકમ વજન ુ =7500kg/m
3
 

Mલ સNળયા ુ 6kg/m
2 બOે 4દશામા બરાબર વહચાયેલ P છે 

07 
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5|`Gv$5|`Gv$5|`Gv$5|`Gv$    V ન�ય ફરસબધંીની 4ડઝાઇનની >દ1  >દ1 ર1ત જણાવોુ ુ .    Qપુ RડS ર1ત સમ�વો*  07 

 A સોઇલ સબTેડ સUપલ સાઇટ પરથી લઇને 'Vથકરણ  કરતા ંનીચેના પ4રણામ મળે  ૃ  

i) 0.074mm સીવમાથંી પસાર થયેલ , ટકાવાર1મા ં   =50 

ii) લી-વીડ Nલિમટ , ટકાવાર1મા ં                                   =40 

iii) Gલા"ટ1ક  Nલિમટ , ટકાવાર1મા ં                                   =20 

DદાWજત Xાફ1ક વોKYમ ુ  300 કોમસZયલ વાહન �તી4દન ધાર1ને  

 ફરસબધંી ની   4ડઝાઇન.    Qપ RડSની ર1ત થી કરો ુ *  

07 

     VYJFVYJFVYJFVYJF  

5|`Gv$5|`Gv$5|`Gv$5|`Gv$    V ફરસબધંી   4ડઝાઇનની C.B.R ર1તના ફાયદા અને મયા$દા જણાવો.     07 

 A સોઇલ સબTેડ # ું CBR [Kય ૂ 5% છે. નીચેની ર1ત નો ઉપયોગ કર1ને  ફરસબધંી 

�ડાઇ નE1 કરો 

    ૧. 4ડઝાઇન કવ$ – કલીફોનZયા "ટટ હાઇ વે ખા^ ં* * ુ  

૨. 4ડઝાઇન ચાટ$ – IRC 

    ૩. 4ડઝાઇન ફો[$લા  ુ - U.S કોપaરશન ઓફ ઇજનેર *  

/હ1લ ભાર 4100kg અથવા 200 કોમસZયલ વાહન નો મ=યમ હcવો  યાતાયત �તી4દન 

ધારો .ટાયર # ંદબાણ ુ 6 kg/ cm
2 છે 

07 

       

5|`Gv55|`Gv55|`Gv55|`Gv5    V ક9C1ટ પેવમે.ટ મા ંતાપમાન �તીબળો માટ વે"ટરગાડ$ના  dયાલની ચચા$ કરો * .   07 

 A વે"ટરગાડ$ના �તીબળ સમીકરણ નો ઉપયોગ કર1ને eતર1ક , ધાર તથા   fણાના ૂ

�દશ પર ઉgપO થતા  �તીબળોની ગણhી કરો* .  

નીચેની િવગતો નો  ઉપયોગ કરો.  

/હ1લ .ભાર, P                                           = 4100 Kg. 

મોડiલસ ઓફ ઇલા"ટ1િસ4ટ ુ ,E           = 3.0*10
5
 Kg/cm

2
h                                   

ફરસબધંીની  �ડાઇ                     = 18 cm 

ક9C1ટનો પોઇજન રિશયો * , µ                    = 0.15 

મોડiલસ ઓફ સબTેડ ર1એ-શન ુ , K     = 6.0kg/cm
2
 

ક9ટ-ટ એર1યા ની hીજયા * , a                   =  15cm 

07 

  VYJFVYJFVYJFVYJF  

5|`Gv55|`Gv55|`Gv55|`Gv5 V િસમHટ ક9C1ટની ફરસબધંીની  �ડાઇ નE1 કરવા  માટ * I.R.C ભલામણ [જબ 8ંકમા ંુ ૂ

સમ�વો 

07 

 A િસમHટ ક9C1ટ ફરસબધંી પર સાધંાના �કારો જણાવો. કોઈ એક સાધંા આMિત સ4હત ૃ  

સમ�વો 

07 

 

************ 
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   FIGURE 1 (a) 1 (b):   DESIGN CHART BY GROUP INDEX VALUE 
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FIGURE 2          C.B.R DESIGN CHART (CALIFORNIA STATE DEPARTMENT) 

 
FIGURE 3  C.B.R. DESIGN CHART  ( RECOMMENDED BY IRC) 
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Figure 4                  EDGE LOAD STRESS CHART  (IRS) 

 

Figure 5          CORNER LOAD STRESS CHART  (IRC) 


